RERH: CISSPHRL: ]

CISSPH R4 X (X A7)
FLHA: RTEEM, KI00H, FMRA—AIAEE, S5RDBHTHL

1. [#¥ % #1]Shandra wants to secure an encryption key. Which location would be the most difficult to
protect, if the key was kept and used in that location?

A)On a local network

B)On disk

C) In memory

D)On a public network

AF:C

RRATT:

2. [fﬁli TILTH—LARBERARBTEREEELZRAEFEHBERF AT, FlnRiERE T EENA &0 mEE
KR ?

A)Data custodian

HEREA

B)Data owner

BEMAE

C) User

FP

D) Auditor

R

A

AT HEREAA LTS AT

wiE, EHREFEHAEERE KL

FA: 202201

LHEEMEREEERXNZLEMH M. BEMFHFALS X EESAERL
ERAEZREHERE ANTRIAT.

. [EEAMIEA B X FER QAW R R A Z %2 T 7 H— & TS £ ?

A FBEFAL

B) B, 1 & H

C) ., F i I

D) [&] 2 k.

B %E:C

FAHT: <p>An attempt to gain access to a system by posing as an authorized user. Synonymous with
impersonating, masquerading, or mimicking. Spoofing — The act of replacing the valid source and/or
destination IP address and node numbers with false ones. Spoofing attack — any attack that involves

spoofed or modified packets. </p>

4. (B K] RN AT E S W E B2 ML T I
A) iTT:xEWI/\W é’]ﬁz)ﬂiﬁuﬂ/\ﬁ

B) %1 AR £ ACF X

C) BEINEHF AR

m%ﬁﬁﬁﬁﬁ

5. [B#AMIUTHTRZEAFATHAEZENIT EENREEH?
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Which of the following is the BEST reason to apply patches manually instead of automated patch
management?

A) ZRANT BT B A 2 TR

The cost required to install patches will be reduced

B) R 4 57 5% 2K < # B 18] 8k 2>

The time during which systems will remain vulnerable to an exploit will be decreased
OERAGIEEERE N4+

The target systems reside within isolated networks

D) 4 fim 7 2 A B 30 2R X 38 Bk B )

The ability to cover large geographic areas is increased

A %:C

MNP WA R, TR T RS S, REEFaHIT4 T,

6. [#%& A Helen EEM XA H A B MR, W EE W HAETHRGHBEAEFREFWHEREZE ., T4
Q@TTXJ—Tklﬁ¥6Q£§%§fkﬁ\iilxﬁﬁ\ o 2 AR R B BRI ) B AL
A) b - S i K
B) v %57 v 49~ AT
C) K&K Z Xl
D) i 55 1 7 &
BE.C
RRAT: KR BT RN S S i RF LW T Frdg . ERE R AP 2 5, RAERE TR 3 Fm L AR A4
Bl 5B 1E e E R E B EHE AKTF.

S

7. [B#FA]A proxy firewall operates at what layer of the Open System Interconnection (0SI) model? fXZE[F
KEEFK R G EE (0S]) HEAEWH—ZEAT?

A) Transport % i &

B)Data link#{{E4EH 2

C)Network % 4 &

D) Applicationpl fl 2

A %D

AT :

8. [ AN IFHEARLA-NRARF AL, RARUETERSIIEEE, ZRNRTREE:

E: HEER202201

9. [ ] T 7| HWIUR A% = X R A oy I8

A) W AZ A0 Bt 7

B) # {4 Fu bt 7

C) 77 fi# Au B /7

D) 7 & 1 9 %

B C

FEMT: <p>A covert storage channel involves direct or indirect reading of a storage location by another
process. A covert timing channel depends upon being able to influence the rate that some other process

is able to acquire resources, such as the CPU.</p>
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10. [F 36 A ] DU T3 A T A W] g6 B 36 ROR A & B9 Vo 1P P 46 38 12 A AL &5

A) Nmap

B)Nessus

C)Wireshark

D)Nikto

BE.C

fEAT:Wireshark £— M W& KEHETE, TURR A EHEIHENE L ZWERE, @FIP EF (VolP) #fE. Nmap.
Nessus ## Nikto #EZRERFFE FHZ2RENZLETE, BEEMNTcEHEHTINEE, AR THERECHEN
Wireshark is a network monitoring tool that can capture and replay communications sent over a data
network, including Voice over dl1 (VoIP)

Communications. Nmap, Nessus, and Nikto are all security tools that may identify security flaws in the
network, but they do not directly undermine confidentiality because they do not have the ability to

capture communications

11 [B&AA]drp HXIFEAFGREL AR THWERESE, BTERINELRE?
NBRFAEEAR

B) & R &

C) #rwr, ki

D) &7 %042

A %:C

FRAT: AR, ST R BUE

12. [# A RAE NIST SPB00-53 “Bi#ife R A Gtk & wH Tt m " W@, A KRB wyiF 77 ik 5 Hl Afn & s 48 52
A) A & Fu i 3

B) 4 Fu 1F £

C) MK Am 7 B

D) A& 2 Fu il 3,

Z%E:D

FEHT:NIST SP800-53 #® 7 =AM B: (DT R, FEH M ITFEEMAK, WA, HLESED; Q) LR, A=K
B R SEAT V736 (3) MR LA, B ROFHES . FANT ST NIST XAYH 4T 7 66 2 BLA BRER M M. O S X B 18] AL
JEHAEMBREREXEE ., AUE TR ®, WAt EaR, RRARMT-—AMERNEZEDT

NIST SP800-53 describes three processes:

Examination, which is reviewing or analyzing assessment objects like

Specifications,mechanisms,or activities

Interviews,which are conducted with individuals or groups of individuals

Testing, which involves evaluating activities or mechanisms for expected behavior

When used or exercised

13. [ & A ] UL T AR EFEEASERA AL RE0H R TR K?
A RE #H K

BZeRBER BER

Oz #k

D) W&

B %E:B

FRAT:

>

14. [# % 7] Andreaiz /T B9 B sh AL RAG MR Fn £ B (TE W HCT/CDE B —#) HET . R AT FERGI L
, Andrea 7 % fn ] 4L 3 ix 4 X AL 9
The automated code testing and integration that Andrea ran as part of her organization&apos;s CI/ CD

pipeline errored out. What should Andrea do with the code if the company needs the code to go live

CISSPH &5 >] (S18ET) 3/22



RERH: CISSPHRL: ]

immediately?

A) Fhge LA

Manually bypass the test.

B) &% # 1% H & L# = & #

Review error logs to identify the problem.

OFEHEMMAUEFTCREAK

Rerun the test to see if it works.

D) ¥ A% % EFF XA RHFATEE

Send the code back to the developer for a fix.

BB

RN BAABE R RE TR I 2R EAXMBEATENNE —HFREFH IR OB, 23K H 7 A&
o MWARE  Andrea™ LIk EBE M. X EREUHATEESRREME K. wRER L AEMNRXT K EH B EREHK
HEMAEXBTRA KX, EE TR F W A4 XK, (B R A E WX #  E I 52 o B o 2 X B

15. [# £ A JRefer to the information below to answer the question.An organization has hired an
information security officer to lead their security department. The officer has adequate people
resources but is lacking the other necessary components to have an effective security program. There are
numerous initiatives requiring security involvement.Given the number of priorities, which of the
following will MOST likely influence the selection of top initiatives? HHH UL T ALLEL|E M, — 44
FRAT —L4ERZAEARTAIMNNZLH]. ZEARAARRNAA TR, B2 G 2HRLRITRAFHLM
SCBERE S AL BUNFELLSE, FREAGAETWEE, UTHHRA 2 HNEE WL E?
A)Severity of riskX[ery ™ & &

B) Complexity of strategydk®&Hy & 2<%

C)Frequency of incidentsZE# & &M =X

D)Ongoing awareness#FZzy &R

BEA

AT :

16. [###1] (04070) A minimal implementation of endpoint security includes which of the following?#& g%
A5 /N B 5 e L L 3 A TS R T
Wireless access points (AP) L&A K
Wireless access points (AP) L& #EN &
Wireless access points (AP) L&A K
(AP) 4B XK

Wireless access points

z=.D
#r:

S22

17. [# ] T —AE B E G R 0 P Es 2 g m?
A) BT R A2 7 B WO 5] A 5 TR o 4 R B 7 2
B)HERIERFEH N ARFHTITRER. HRABROLEHG?
C) A RAEH G2

D) & Bl EFZH, RAAHAWNR, DR} AED?

A %:B

FRAT -

18. [ 3% ] %t FCISSPINIE, ISC2#E B I + FaFE L THFAT A2
A) EBAT N

B) A& %

C) & #l

)W

BZE:C
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FRHT: <p>Control is not a behavior characteristic described in the Code of Ethics. </p>

19. [##&M]0ST B HAWMNE R EE A FTATL?
A) SMTP & £ 8 5 4% 4 v DU % AR 5

B) oy 5k W A 2

C) BBk W48 @ &

DfEEHRAMEL

BE.C

A

=

20. [# 1% 7 IMat thew EE%EﬂﬂﬁmH7PT%§ﬁzﬁzi’F]%%EEé%éﬁEﬁszﬁﬂgﬁ TEMERE, HECHEFERKE A 6 AR
HE| K HE ., A2 AE A K # 2 Mat thew® B # [7] &

A) %R

B) £ 3

O #HEGE X

D) T4

Z%:B

AT BRI E 2 HAFEH A E B b R X R, BN ELEA 2 HNEREELHAMAE, HECELREE
EHTFEECHHBEBCRAEE R, THENRERBEFECAZHRNEEEETH,

Latency is a delay in the delivery of packets from their source to their destination. Jitter is a
variation in the latency for different packets. Packet loss is the disappearance of packets in transit
that requires retransmission. Interference is electrical noise or other disruptions that corrupt the

contents of packets.

21. [## 7 ]based on the organizational security policy. The access controls may be based on?

FEEEAER FENBNMGMEARNL LB KRB RN L EERT UG E RN R, BRI TUET?

A)The societies' role in the organization. FEH LA F 42 A &

B) The individual's role in the organization. 4 F A AWK A &

C)The group—dynamics as they relate to the individual's role in the organization. Z&zh /7, B A ©111% & 2|
HPAFHNMANAE

D) The group—dynamics as they relate to the master—slave role in the organizationZ¥{&zh7, B %

BB

REAT:

22. [B&AVFNTCPFZ 5 & T
A) TP 3

B) & 8] A&

C) # kB ik

D) SYNE iz 5 i

A %:B

RRAT:

23. [## 7] The application owner of a system that handles confidential data leaves an organization. It
is anticipated that a replacement will be hired in approximately six months. During that time, which of
the following should the organization do? RENBEHEW ALV N AT A HEETHL, FtEEKRL<ANA
WRA—ZERAR. EIHNE, 255 HFAT AT AT 1E?

A)Gram temporary access to the former application owner's account Gramllf B 7 2] #7 5 JH 2 7 BT & & 69tk P
B)Assign a temporary application owner to the system. N A& 4B\t FEBFFAE.

C)Restrict access to the system until a replacement application owner rs hired. ZERBAZRMNFARFIHAE
Z R, PREIS R G,

D)Prevent changes to the confidential data until a replacement application owner is hired.
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A %:B

24. [ ] DU TR E B R X RA %2 & 9 7= A 9 IR B A 8 55 B R 2 1) 50
N—A HEEREMEFHIEETE

TR R 72 2 fu A

HHEABERMEZR

RN fim o 2 2 R A B

£:A

#r:

Eogl SRS AR

25, [BAAM]EHRZ FAEFRN S BN E T, UTH -T2 REZFENEETH T E?
A) ZHER A B RN E ., KEER A F I EH

B) L EEH K. FiHEH K IEE R

C) Sk % A BUR Fobr v . 17 [ 45 % Fo 377 18] IR %

D) LAV |7 Kug, HFTEssfnHXEE

A

FRAT -

26. [BE AT ATEF W — TN F m e FE 18 24 Myl s e
A) IS0 9000

B) IS0 20121

C) ISO 26000

IS0 27001

:D

)
=

27. [# 3% # ]What BEST describes the confidentiality, integrity, availability triad? 1T & GEF ALK&
TEEFTAE=EER?

A)A tool used to assist in understanding how to protect the organization's data/fl TH By 7 ff tnf fF 4 421
KENTHE

B) The three—step approach to determine the risk level of an organization® & H N6 KF =% 7
C)The implementation of security systems to protect the organization's datasZfi&4 2 UAR4rH A mEKiE
D)A vulnerability assessment to see how well the organization's data is protectedE G M IT R, LEFYHE
PRMRIPREE

BE.C

REAT:

28. [###]A new employee formally reported suspicious behavior to the organization security team. The
report claims that someone not affiliated with the organization was inquiring about the member's work
location, length of employment, and building access controls. The employee's reporting is MOST likely
the result of which of the following? — & ¥ R LIFA MARLLHNMRE T FTHEATH. REH, FALEMEZK
RN T & . TrEet B sy M 56, MiIZ AN FEZEARANHBENY. RINRERTREEUTHHANLER?

M) Risk avoidance X K #1. #

B
C
D

N

Security engineering®4 T2

~—

security awarenessZ 4 E iR
Phishing ¥ % 47 &

£:C

e

oy 2

=

29. [BHA]UTHA of BBFNIAIT RN E — 52
CISSPH IR (I FIET) 6/22



RERH: CISSPHRL: ]

A) 2 #T B A% W 459 P 4
B) # F1 /v E] B
)
)

@)

FENEEEERNTLE
D) 7 2278 5 /N B A 8] 2 HE v i Ik
BZE:C

FRAT -

30. [B# AU T AL R =7 & RE 8 BHRH?
N—A ZMREBHES

) B RS

OF-SHE 3:0E:

) BEIfrk P g

SL[E#AMIFELFAUTERUEL FA.

AEHLFEFE—RRE, AEENRALENT R ERCT. MARRFHEETIEsE. RAZEZHAS 17 FEEF
FEMTARARIFE, BENEAFTEAPRLEANEURTEY H. ZHALER G, INHHNLL2ERE, F LT
Wz B F RS 2 &M AIRE KRB . RARRA SN, TR F 0 A TR A A

A) V7 9] B 8]

B) %4 4%k

O FEL T A 2R

D) 48 % (8] &

BEA

FRAT:

32. [ A] XA BRMBERWELT, 68 i P kg2
MNEFE ERE HH

B) B & ¥ fa

C) k& F kit

D) E %

A

RRAT: B

= EWE1K202201

2

33. [## 7 |The security accreditation task of the System Development Life Cycle (SDLC) process is
completed at the end of which phase? RS I &L & & EH (SDLC) By L A NIEE S AW B4 R0 2R 2
A)System acquisition and development & %4t 3k B fnJF &

B)System operations and maintenance % 4 # 1 fu 4 47

C)System initiation & % E 3

D)System implementationZ % 523

4 %:B

AT

34. [# & ] Internet A 5 A R 7 & EA AR PG FIRZ 0 #AT & o 1o A AR = & 6 0 i F 22 5 i 3
i

An Internet software application requires authentication before a user is permitted to utilize the
resource. Which testing scenario BEST validates the functionality of the application?

A) & 2 i 238 IR

Reasonable data testing

B) #ar A B3 )3
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Input validation testing

C) Web 4 1& i

Web session testing

D) 7 ¥F B9 # 4 12 A0 R A A

Allowed data bounds and limits testing
BB

AT

35. [ M| FytBm T THEAFLEE LML G, Dereki ERRE — M FERAREF AR L ERTLSHHNE
B TAESE, dTAHRRN, FFARERRERSINEFTHEZRRE, AIIAFTFEF AL LR G, Derek M ZE 4 #A
B 7 R X A ok

After recent reports of undesired access to workstations after hours, Derek has been asked to find a way
to ensure that maintenance staff cannot log in to workstations in business offices. The maintenance
staff members do have systems in their break rooms and their offices for the organization, which they
still need access to. What should Derek do to meet this need?

NFELZHEFZHMIIE, FERAFANEIEARFELEEA

Require multifactor authentication and only allow office staff to have multifactor tokens

B) 6 B 25 F AUy 7 1] 25 4R, sk By ab 72 b - KO8 T 3E /5 B %

Use rule-based access control to prevent logins after hours in the business area.
OFFETAENFFAES, EXREGLAAEF ARNA, AR T ZANEFIE TIEENAIR

Use role-based access control by setting up a group that contains all maintenance staff and then give
that group rights to log into only the designated workstations

D) A MEE R, RAFELET KEBER,

Use geofencing to only allow logins in maintenance areas

Z%:C

REAT: R A FDerek B Bt 8] 2 61 — M E A 47 A RAERIVE, R R ZEREINRNEK T EHWPC, BAET
BB IR BT RE 2 H BT B, (B E XM FIL T, € o RE AT £ A REFAANTIT H A& 1618 # F B9PC, AT 4 3% 1
THETZE. RN ZEZFAMMENHER G ENER, ERAELTRE—IFEE, TREENM AN S HINEL 4
Mo TR A A ERPC, M HE [ A I R T4 v e T R R

36. [#UE ] T —HUH— TR EFHWN?

A MKAEAH, AMB—EES A RFEF,

B) % fm PIN 4##iEF &4 A REFHEB RN —MERTE
C) AR IR A T 1 35 S R B ] AR

D) AEH TR, A A2 HE R FIRE 7.

BE.C

AT :

N[t AMIZ— N EBA EFPREFEFEE, 6, XHFEHARE) RS EH R FRERH (CSP) FE,
RER —NMERF BT RE, B X NPATHER A F R RITIR/ B R/ 2T R/ TRAAREETANIREGHNE
TN AN -9 & -3-0E 2 &4 18

AMMicroservices

B)Serverless %44

C) Z w1k #1F A R A

D) 94 R & 4

BB

BAT:BEM S B RZMEZE— Nt EMA AP REGHEFEFE, To B, XHFEHRH) SR FEE R FREH
(CSP)BEHE ., REA —IMIERSHETATRY, EEXMPATER A F R RTIF/ B F/ T R/ LA RFET A
RAGWE 3, T AR E RS BEWSBBIRF . XA 88 IR & (FaaS) » MR H R Zweb AR FH— M TE.
MM ek, S F AR EE, T LA thweb L AR 7B R BB A . AR IR AR Y RAD (1aC) BB T A E B R o e
KEFR. SHECREAN TN, HENTFH., — 4 —WEERFAE, ©#HAN 7 — 7R, AArduinoZ —AFF
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R R E G AR THERFRAENERSMLMIES . Arduinoik & HIRAMA IR, RF —ANUSBs 1, Al T #| &
b B F 1% & (%o fE] AR B AL BRLEDITT) 9 1/05 | B IR, T E A GBI R AKX FWE . K, Arduino® UFATE T HHA
REIEAERE R cHEF., MERE —MRATHALHMEFRERERIAG T, CEL N ERRERR REAR
5B FRAEZG I HEE, 7 —MHHIEH HRaspberry PitbArduino B2 H ERAAER /1, AR THATcHEF, X
W%, HArduino® &3, Hb, MERATZEXHERL TR R ELF, THIEE RS RTOS) Wikt B 2 &5 IEE
KRG R DL RN E R B I R AL AR .

RTOS & — PR R #8218 R 4, 18 % ROMAF i Fo 3 AT, B LV B B A\ KRR 77 R0 — # 0 SFE & s # & L. RTOSIE 1T
FATREESFEE, ARLEEEF, AT L4, LTHKRSR/NMER, Hilt, RIOSTEX M FERWNRELE, B EEX
TEE-NE AFELHNRBESRIE, AFTREITET (FPGA) R — M REN T ERE, B EHREA P REF
AR, fpgaB BIEN AR KL ATEMT & T, BF T EF R4 (ics) . fpgaxtfmte BA sk, 1 H 8%t M
FHEWRHBATRE SR, HI, FPCATERX N EH R ELE,

EANGEHENE —ANFELZHBE RS RTOS) k7 ZW =&, HACERE T R/ R fr R 3% 2, EROMF 7 1%
KA, LR R BESBIEWEMN. ZENHONRAEZFATESXHEL, BhE TEMNERMZENRE, € L&
HFEaEE MEEEMWEARFES UXHNE X FHEELC S EN L, T AEROME 5 £ Arduino& —F 1 #
BUEEEIGEE, AR AN R —HELIHAIE, CENFS R LEBRE, AN ERNETHRIEAE, T
EAERBESFEE. 2AREFNRZRAEOCS) TATEENABENIT VIR, B E—MALRHWBAT E. dc T HFMHE
ROM, B o] LLF] & & 22 X1 48 1F o

BN RERAZIHTEN M F. EAZHTEFY TR BECEEEMNEET. A, TERHEL LR EAE LA
VENMEETUAAMAE G CHWBEE. AEZHTERNRRERPITH T EEZNEER, BNERBELAZNNE, FE T
BERBMTERE., MBEMRE EZUEGUHTERERKEHE AR A FREF ONEHTRAE., X W

A —FEA KR F R A SR OB AL, AT EAE T E AR EA. E LR R B Ak

Ak E AR (laO) R X THEHEENRBALETR., EREHREEFEFEFIN. EE7IFTH. — X —FEN
HRBAE, CHEERE S —HTE, L5 EDevOps TE B SR E W FRH#TEHE,

38. [k AN 2R B R AR T, REFATFHMRZ AR LH T HRT #2

ac=ws =
M O X B e

> B E

=
=

o

(-

RN EaENR T, AEFET BRI T AT E R AN T ELZAAT, @ RERG, KW+, kREF RAFHL
iR, ERBMAF  REZXZLATRAR, ARENAFPAERNAE. E2EFNELZTE, TA THANRA.

In a white box test, the attacker has access to full implementation details of the system, including
source code, prior to beginning the test. In gray box testing, the attacker has partial knowledge. In
black box testing, the attacker has no knowledge of the system and tests it from a user perspective.

Blue boxes are a phone hacking tool and are not used in software testing.

39. [B1% R ] T 5|8 — T & A ey RUFe 2 X2

A) XEHEE | R AR AL & BT A

B) TR o — N2 MR E R R
C) R K=k ff ifs 55 1

D) &— /&5 L

A %:B

FRAT -

40. [ 16 7] % KU MRk 77 R
A) ¥z i 18] 1% i o e 55 14
B) BT &MERLE
C) BT & KAHET
D) (R $HE & ik & W

BZE:C
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FEHT: <p>Tempest & Xt B R <br />ik & & HBY 22 8 .15 5 B9 B 58 Fn 1 46
. </p>

41. [#3% # ]0penID Connect A& OAuth 2.0 N Z LW —NEEEGE. UTHNEFREHN? (EZZ QOTD)
A)OpenID 2.0 A XML #n g = XJH B4 4 7%, 0IDC £ 5 JSON.

B)OpenID Provider #AT &% WIEH R E 1D Token 1£% JSON Web Token,

C)0Auth 2.0 MR FEH KL FEANAERSSHHTHGRIE,

D)OAuth 2.0 387 T 17 8] K IR 89 V7 |5 4 BE o 12 11 & 1 15 R R AR VE 77

BZE:D

FEAT:0Auth 2.0 8 E T F I KIEM T E AR, ECRARERESHRELE (ID AM) R ETE, XHA OpenlD
Connect (ODIC) HIHEH.

42. [BEAMIBEL X FT RN EEEFREA A2

A) B A AR BRG]

B) iR YETE & By E B R AT A&, R EHATE F U BRI,

C) A |2 3% il 3 i = 4 IR ER o

D) A # 1k V7 [] 5 42 B & 8 B 7 i R R T IR o Rt .

%8B

BN BENSRFTENTEAREEATHEANERZL SHRMAE, d B E#RTER I B R 2T F LA,

=gy 2 C

43. [ A H AL R H XA B AT i 2

MNAF RN e TER

B) 77 it T 3k

C) I g fu B

D) A%

A

AT OB A T ER BRI, REBER. o>

44, [# %] (04081) —MNARBIFT — N LLERXREFAMNINELELLHERR. RARZ BEAFTHBEET E

, URAETRMNIERH#TT THEHRE, RIAT —LXTAXENEERAONE, ROFERFPRET, AEZREE
B, MLZ2ERBVURRERR G RNRBAM 247507

A) Implement strong passwords. 5E 5% 55 AL 5 S

B) Implement strong passwords. 3E 7 7& 55 A 5 B

C) Implement strong passwords. 5Z 7% 55 A5 5 B

D) Implement strong passwords. 3E 7 7& 55 A 5 B

A %D

AT :

45. [# &M ]Kin FEC R N BRIHKEESR T EENTH. FEWARMT 2REBWETH?

A) E4#

B) shi#

C) f& &4

D) =% 4

BB

AT TEET A ARRICFRE AR TR AN, ZILXFAETERY. ABEATTHRIET A T EEANE .
Foreign keys are used to create relationships between tables in a database. The database enforces
referential integrity by ensuring that the foreign key used in a table has a corresponding record with

that value as the primary key in the referenced table.

46. [RE ANV MET K 6 RN EWER AT AFBLETZ R T AIRE?
A) AT
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B) MR fEE

C) — MR

D) — AN fE Ry B

A %:B

AT <pREEEE RGN —FERYNECREE, BRTX
ARIEEZ2AFNRY . RECREE—F

s ROIRLE 7 A, FR#EE I TCSEC %Al B2 FFaiE, </p>

47. [#2 #7711 (04111) What is the MOST effective method to enhance security of a Single Sign-On (SSO)
solution that interfaces with critical systems? THHNERA RN FTiE, RHEBXBRAGHNEARTBATE
B2 A ?

A)High performance encryption algorithmsE M &En 55 & i
B)High performance encryption algorithms & M 88 w55 & ik
C)High performance encryption algorithms & M G fn 25 & %
D)High performance encryption algorithms & M 88 v 58 & ik
A %D

FEAT:

48. [BHAIF LR BEREE X FRe RGN — 7%k 2
A) 7= Earned MEZE EWM) 4R+ AHERZLIES

B) 72 AR %% B X (SLA) W .45 22 A 1R AE 4 2

O) g £ A AL (COTS) 7 i

D) R 3E 3% A FFIR LR AR S A2 B 1 (APT) 931

A E.B

FRAT:

49. [# £ A IWhich Redundant Array c/ Independent Disks (RAID) Level does the following diagram represent?
THERTIATURES /Mg # (RAID) & A|?

Lo il Dhai

J 9
! 1!
- w
" ,
’ : 3

A)RAID 0
B)RAID 1
C)RAID 5
D)RAID 10
BZ:D
FRAT:
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